L ARS{ONE: +:M

BN XFHEE
B8 ¥R 2WE4A1H (E® ¥ 2843 A3l B
’ (B : [)
HEFE FHE®A ®IT (B) ZRW-0 s
Bl |REERKA { 47, 711, 192 1| ( 47,601, 140 1] ( 110, 052 ]
RN |2B#ERESENA [ 26,000 1| { 28,702 1|{[A 2,702
FEIA|EOHMORA [ 581,840 ]| [ 581, 840 1| [ 0]
5 WREEBALL (1) [ 48, 319, 032 1| ( 48, 211,682 1| [ 107, 350 ]
i AR [ 37,967,409 1| [ 37, 853, 331 ]| [ 114,078 ]
K| X | BRI [ 4, 555, 059 ]| [ 5,051, 344 ]{[ A 496, 285 |
D | H (B RsE [ 2,747,800 1| ( 2,562, 847 1| ( 184, 953 ]
)| |EofoXH [ 576, 840 }{ [ 576, 840 1| [ 0]
X WREBSTHIE (2) [ 45, 847, 108 ]| [ 46, 044, 362 ]| [ A 197, 254 )
PEEDHRSMZEE Q) =()-Q) [ 2,471,924 1] [ 2,167, 320 }| [ 304, 604 )
HERR B HEHBI RN A [ 01}l 011 0]
B | BERREERAR IR A { 01( 01} 0]
B| M| BAERSEASRA [ 034 01l 0]
B| A |BERERDRA ( 0]t 01|l 01
| |ToMOBERBHEFICLZIRA [ 01} 01]1 0]
% MR HFIAL W [ 01} 0141 0]
| |RERSEASTLEIZH { 011 014t 0]
& BEREREZH [ 199, 000 1| [ 199, 000 ]| ( 0]
3 | X |EERERN - BRI [ 01| 01} 0]
IR 7 7AF >R - U—ARBOREZH |[ 01|t 011 0]
X| | EotioEREHSICL SR [ 01t 01l 01
HERR RS B (5) [ 199, 000 3| [ 199, 000 1] [ 0]
HERR B G TSN 2 (6) = (4) - (5) [A 199, 000 J{ [ A 199, 000 }| [ 0]
Z| |BREEESEASNA { 01)¢ (B 0]
D | N | MM SERRA { 014t 01}( 01
W] A | REEEHREINA [ 0]}t 01} 0]
D |BIEERSERA [ 0]]( 011( 0]
7 T DMHDIEBRAEL (7) [ 01ff 03!l 0]
B [ENEEASEASTSEITH [ 01t 011 0]
2] X | BMSMeH [ 01t 01|t 0]
) | | R ARSI [ 01} 01} 0]
% RO HE { 2,309,724 ]| [ 2,309, 724 1| [ 0]
X ZDMOTEHZHET (8) [ 2,309, 724 1] [ 2,309, 724 1] ( 0]
X| ZOMOBEHESNZEHO=N-08 |[A 2,309, 724 1{[ A 2,309, 724 1{{ 0]
TR (10) [ 0] ( 01
[ 0]
LMESNEEZFAE (1D=Q) + )+ -00 |[A 36,800 1|{ A 341,404 11 304, 604 )
HIARZ IR STR (12) 7, 548, 520 7, 548, 520 0
USRI SRR (11 + (12) [ 7,511,720 ]} ( 7,207, 116 1} [ 304, 604 ]

() FHEBIHBAXXXARBOOXHICKLEALIEHTDH 5.




